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SD-06-x %] 6 | 12| 9 | 45]155[185(495| 10 | — | — | — | — 1.2 30
SD-08-%xx)] 8 | 15| 10| 5 [ 18 | 22 | 58 [125] 3 | 95| 3 | 26 2.7 50
SD10-%x%%) 10| 19 | 12| 6 | 21 |255|675/165] 4 [115] 5 | 32 6.3 95
SD12-% %% 12 | 23 | 15| 75| 26 | 31 | 83 |205| 4 [135]| 5 | 36 11.2 180
SD14-% %% 14 | 26 | 17 | 85 |295|355(945 23 | 5 | 16 | 6 | 40 15 250
SD-16-% %% 16 | 30 | 22 | 11 | 37 |435([1175/265] 5 | 18 | 6 | 46 24 410
SD-18-:% % x| 18 | 33 |235[11.75/405| 48 [ 129 [285] 5 | 20 | 6 | 52 30 550
SD-20-% % %] 20 | 36 | 25 [125|435] 52 | 139 |315| 5 | 22 | 6 | 58 40 690
SD-22-% x| 22 | 40 | 27 [135] 47 | 56 |150 |345| 7 [ 25 | 6 | 62 58 940
SD-25-% % 25 | 44 | 30 | 15 |525| 63 [ 168 [385| 7 | 28 | 8 | 68 77 1240
SD-30-%%%)| 30| 51 | 35 [175| 61 | 73 [195| 44 | 7 | 33 | 8 | 82 117 1775
SD-35-% x| 35 | 50 | 40 | 20 | 70 | 84 224 | 52 | 10 | 385] 10 | 90 186 3180
SD-40-% % x| 40 | 67 | 45 (225|785 94 | 251 | 60 | 10 |43.5| 10 | 100 281 4150
SD45-% %% 45 | 75 | 50 | 25 | 88 [ 106 (282 | 68 | 12 [485] 10 [ 110 360 6225
SD-50-3% % %] 50 | 83 | 55 |27.5|95.7 | 113 [304.4] 76 | 12 | 53.5| 10 | 120 448 7750




